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Part A: Grammar and Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see
Jour words or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that
| best completes the sentence. Then mark your answer sheet.

Ali and Reza did their homework while I dinner last night.
t) themselves / have made 2) himself / am making

3) himself / made abad gar é}.‘l&aﬁelﬁﬁs / was making




77. Recent research suggests that the men : are more willing to take
part in social activities.
1) who have given up smoking 2) whom have given up smoking
3) who has given up to smoke - 4) whom has given up to smoke

78. It is the first time that he me that he would come to the party if he --——-----
invited.
1) was telling / were 2) told / was 3) has told / were 4) is telling / was

79. NI - enough money, I could buy the house .
1) have had / which I were born 2) had / where I was born
3) have / that I were born in 4) will have / in which I was born

80. He went abroad in the -----———--- that it would help him to create a better future for
himself.
1) moment 2) habit 3) belief 4) state

81. According to the report, many forgotten and historical -------—-—-—-—-— have been
discovered in old houses recently. ,
1) treasures 2) values 3) emotions 4) actions

82. He likes to stay at a comfortable hotel in an area with immediate -----------—-- to places of
entertainment such as cinemas and zoos. :
1) memory 2) success 3) influence 4) access

83. He scored a great goal which was easy to ----------———-——- based on his high quality.
1) claim 2) predict 3) attend 4) transmit

84. We are planning to organize a special charity event and collect money in ------- of cancer
research.
1) aid 2) origin 3) common 4) peace

85. The children were given some ------------ to help them solve the difficult puzzle, but all
their efforts ended in failure.
1) entries 2) vibrations 3) clues 4) emphasis

86. The well-known author has --------eeeee- several books which have attracted a lot of
public interest.
1) invented 2) published 3) experienced 4) caused

87. As far as I know, there is no wonder ~~—-—-—-————-—— for this rare heart condition.
1) diet 2) noise 3) notice 4) cure

Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide
which choice (1 2), (3), or (4) best fits each space. Then mark your answer sheet.

There have been hints that the famous astronaut, (88) ---------- some space missions
recently, may retire early because of poor health. I’'m quite certain that he is the single
most successful Afghan scientist (89) --------m-mnm-- history. This experienced specialist has
spared no pains to share his wide scientific knowledge with others. Although he has lived
abroad for almost half of his life, he has never lost his cultural and national identity. He

has tried to the best of his ability to (90) ------------ the living conditions in his homeland.
Besides, he has played an essential role (91) ----------m- a modern observatory in
Afghanistan. Not surprisingly, he has been a real inspiration to the younger generation of
space scientists who are (92) ---------=--- international fame and public recognition.

88. 1) who has gone on 2) that went on 3) who went to 4) that has gone to

89. 1) during 2) whereas 3) throughout 4) all around

90. 1) identify 2) improve 3) guess 4) develop

91. 1) in founding 2) on founding

3) in the foundation on the foundation
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92. 1) expfessing 2) joining 3) seeking 4) converting

Part C: Reading Comprehension
Directions: In this part of the test, you will read three passages. Each passage is followed

| by some questions. Answer the questions by choosing the best choice (1), (2), (3), or (4).
Then mark your answer sheet.

PASSAGE 1 :

During the first year of children's lives, parents and carers are concerned with their physical
development; during the second year, they watch the babies’ language development very
carefully. It is interesting how easily children learn language. Children who are just three or
four years old, who cannot yet tie their shoelaces, are able to speak in full sentences without
any specific language training.

The current view of child language development is that it is an instinct—something as
natural as eating or sleeping. According to experts in this area, this language instinct is
innate, that is something each of us is born with. However, this prevailing view has not
always enjoyed widespread acceptance. In the middle of last century, experts, including
John Whiting, a renowned professor at Harvard University, regarded child language
development as the process of learning through mere repetition. He believed that language
'habits' were developed as young children were rewarded for repeating language correctly
and ignored or punished when they used incorrect forms of language. Over time, a child,
according to this theory, would learn a language much like a dog might learn to behave
properly through training.

Even though the modern view holds that language is instinctive, experts like Professor
Lise Eliot are convinced that the interaction children have with their parents and caregivers
is essential to their development. The language of the parents and caregivers acts as a model
for the developing child. In fact, the babies’ day-to-day experience is so important that they
will learn to speak in a manner very similar to the model speakers they hear.

93. What does the passage mainly discuss?
1) Why parents must take care of children in early stages
2) How babies learn a language
3) The babies” developmental stages
4) The difficulties children face while learning a language
94. Why does the author use the underlined clause “who cannet yet tie their shoelaces” in
paragraph 1?
1) To compare and contrast two different abilities that babies develop
2) To introduce another ability that babies can show during their early developmental
stages
3) To emphasize how difficult it is for babies to tie their shoelaces
4) To support an earlier claim about babies’ special ability to learn a language
95. Which of the following is WRONG according to the passage?
1) Nowadays it is believed that we are all born with an ability to learn a language.
2) Babies show a good level of linguistic ability at the age of 3 or 4 if they are taught
how to speak a language.
3) Some researchers believed that babies might develop language habits through
repetition.
4) Parents provide babies with a good model to copy in the process of learning a
language.
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96. According to John Whiting, all of the following statements are true about the way babies
learn a language EXCEPT ------cemmmeemeemm . ‘
1) They learn a language because they are naturally able to do so.
2) They learn how to speak a language when they are punished for making incorrect
language structures. L
3) They learn a language when they repeat what they hear.
4) They learn how to speak a language in the same way a dog can be trained.

PASSAGE 2: .

Ice is water in its frozen, solid form. Ice often forms on lakes, rivers and the ocean in cold
weather. It can be very thick or very thin, and may occur as frost, snow, sleet and hail.
Water will freeze at zero degrees Celsius (32 degrees Fahrenheit). Once it gets close to its
freezing point, water molecules begin to expand. In a small space, these expanding
molecules can create a lot of pressure. This is why freezing water can burst even the
heaviest of metal pipes in the winter. This is also the reason your ice tray at home can look
like it’s overflowing with ice, even though you only filled it halfway with water. If water
freezes in a crack in rock, the ice can eventually break the rock apart. Because of these
powerful properties, ice is very important in the processes of weathering, where rocks are
broken into smaller bits, and erosion, where rocks and earth are washed or moved to other
locations.

The expanded molecules make ice a lot lighter than liquid water, which is why ice
floats. An iceberg that weighs several tons can still float easily in the ocean, just like a piece
of ice floating easily in your cup of water or soda. Water covers more than 70 percent of the
surface of the Earth. Slightly more than two percent of the water on the Earth is frozen into
ice; almost all of this ice is in glaciers, which are huge masses of ice. Today, glaciers are
found in many mountainous areas and in the polar regions of the Earth.

97.. According to the passage, what is the main reason behind a piece of ice floating on

water?
1) its weight 2) its smaller molecules
3) its pressure 4) its freezing point

98. Which of the following is NOT true according to the passage?
1) Ice can take different forms in nature.
2) Ice plays an important role in environmental changes.
3) When water freezes, it is powerful enough to burst metal pipes.
4) The size of water molecules decreases as water gets close to zero degrees Celsius.
99. The underlined word “eventually” in paragraph 1 is closest in meaning to -----------—--- .
1) carefully 2) finally 3) accidentally 4) wisely
100. It can be understood from the passage that : .
1) polar regions make up almost 2 percent of the surface of the Earth
2) the processes of weathering and erosion happen in the winter
3) ice takes up more space compared to liquid water
4) solid water is heavier than liquid one

@sanjesheducationgroup o o 3T sy g0 3T pf KU JULS
abadgaranedu.ir




]

o:l‘

3

- d

|4 om_.ﬁn.é

T N N S o W

-

(03) (o3 plol

s
U

5‘-) 5)

0

-

990

37

P
>

&
*

RS jl g i

*
o

1WA/ /Y4

foageyl

<>

*

B e e e

9 =2l

*

&.
had .

(oo 3199)

el Slge ylgis

-7

-,

N

Slesl

"~

2

-
.

"y
o
:,
S
.'{.\'

s
S

23

.
RN
Rttt
o

S

2,
£

o

£

-
s,

(Sin S g o 4y W lgus ki g IS5 ety B>

<,

o
o
oy

- ._.V
Y
o

Y

I,

W

7

:_'H.

T
pt
o

A

"~
o

5

.

ry

<

o
..

e

5

5
et

"
w

o,
SN

M@Eﬁw«mﬁﬁ 5
S

o

Wy
»{Nﬁmﬁn.mﬂm@.. )

e .na.ﬁ
.r.‘.h.u..c...
G :

2|3

N - I I

. g ls
4

~

wQ Olu

3=

— < — — o

Al o e

9 ~ =12
-~

av | ee

315

) 3= 181

-~ ol IS S
e

13

YWalalala
20 |3 | >
/wr Dlaitn
\ m M w

a.nn.w.wm..xi R,

AN A EN ..vn. £, o

Al

) e " R0 o
FERES )

s(.. 9

PSS E BT

ik

v
2
@ -

.

BI IR CSCHUPL RN ."‘5(&;‘”;;)%‘&“&#@@m:’a';.: L“

XS o0




X+ Y X—)
95,15 0929 S O g0 o Jole plus . + - Syle ool ool S 50 -V
‘ | x—) x"—y Yx+¥

X—=Y (f X+Y (¥ X—=0 (Y X+0
T sy iy 3 G ke 3 Syplas X' —y"T 1y
X +y"f x'+y" X' -y x'—y" 0
plas a—b—c+d Job> ol&T il 8x' —sx' +¥x—1=a(x—1)" +b(x—) +e(x—)+d 5 -\o¥

S Cw!

=V (f —Yo (¥ = (¥ —A QO

Sl a5 A F+ VY —F—T/Y oyle Jols —1oF
Y (F Y\/F Y \/; (¥ y ()
o2 LS Y iyl o Ll 8 ¥ sl o0 o O H0 a5 Y Bg AT 5yl Jlesal s ys wiz Loydi Vel

?,c ."w

AF (F AY (¥ 55 (¥ $o (\
San! ploS b 5, Hb oS Tads as ol Jloss
\ ) Y A4
— (f — — (¥ —
\ Yo 0 Yo
09 Wigto ) @)l5 ¥ )5 w5l g axbygs S5 S 59y 1y 10 51 5 KzeT (oanb olasl I Sy o -)4Y
o] plas ol iy g ¥ (08, ¥ due aSCul Jlado ] . ouddd o0 5138 ob JLS g ot o0
Y V) 0 \
— (f — (v — -0
vy i VA ¥
¥ iSTas a4yl Jlosmt o 50l o0 (gm0 0 ¥ dwrer nl 510,10 3929 50,8 0540 ¥ g (ol 6300 O (slamm jo —VeA
Tl plas sl S pod 0 0

Y Y N Y
— (f — (¥ - -0
Y A 4 f
Sl V10 il i ciilio (glapwly B il 9595 5 35 50 alold oy 20 FF 9 1A IY £MSl 4y ilio 50 -1+
¥ (f Yy v (¥ VO

ool UM alols i oo i ¥ 43 ) G 4 1y bawgio gl (M alaiii (n/$0 95 0 ¥ e3dl &y ilio ;0 —V)e
Sl plas’ Jalio

wWE (s Y 5 (Y WY o

§ sl oS it hawmmo 03918 glaid o7 cisly C=108° s B=¥4° .BC =5 : ABC &die 0,51 11
PAIY f Y o P v O
abadgaranedu.ir



C 1) Jolo aaiii g 00ld (4590 el grasybc cym ;0 Y0 wyljs B 3wa )L SH 1y AB=F hso)l -\\Y
D 1) Jol> abili 5 ools (390 cslu gloaryiie gz )0 W0 wygly g A 35,50 45 ;50 ,b 9 ol
Sl plas Ly i ABCD oalss )l coluns cpunli oo
Yo (f Va4 (Y VO (Y VE ()
el )51 Cand il (6585 90 Ead 0B oud (] S i A jio JLidlg 885 00 pud guas (G 9 Sl el —NIY
fadly oo pIAS (il o e (2 ) ulpad dsol AT Jlosiat el iasdy (gogeo 9 SUb 31 ol
\

Y Y \
— (f — (Y — — (O
0 Vo A} Vo

4 ails )l (pl 58 w2 ld Gl (O SO el )0 € 9 B (A Gl ails )5 aw 51 G p0 5l uss (8 -
GRS ) A o 51 (Holai ©yg0 4 ) (g ol 39l o0 -\;.».-‘93' S e r AL IATSIRYA C B
Tl A Al 5 &y bgy o 0,10 Jleds! juiia .aales
al (t 2 (¥ L (¥ i Q)
Vo \ - YA q
4 bl s )51 g VA0 Jladal 4 il s ldusg) 55T aiS oo O 4 pladl a5 b o Il -0
aw 3l Aol Jlodat ably adls (298 damg; (Ol oyl 3 Ghay gl WSS (28 0gd e JS VF0 Jleso
Sl duoys Wiz g S5 3T Ol Lo ( Jgo Uiy
o/% (f YA\ /Y (v f/A QO
198 b glee AL S P(2) 9 P(Y) P(X) 551 ol aiges sLad S={a,b,c}. Solai aypoi S 55 -8

- \
Tlww! plas yao!l g Jloda ! o sy codd oS — Cod
g > O ot s =

\ Y Y
— (f — (¥ — — (
Y ¥ Y
) ) xVx x<o
ol Aigfs Wlaiswo luwo jo Yy = &b -y
\/; X2o0
\“f/; 5 x2)

¢ &bl 9 e wlow ol 99 (ot 41905 wgiaw —VIA

?ad@ﬁ@ﬁhﬂﬂ:,x # <
-x 3

o/aA (f o/a8 (v o/ b% (Y o/ EA O
0,5 5g2g (¥ Y (¥ \ (Y o (\

abadgaranedu.ir



iy 5loged p YHAX Job 4 glbrahaii 4 1) ks f(x)=—x"+\ox oeei w ¥ Job 4 A akadi 31 VY-
Seawl plas (V) S Juo Y =8(X) bt 4y bohas ol g A 0 5. 0uiS o0

Y (f YY (¥ Yy (Y Yo ()
Y [ Y [ ¥
- —Yax+1Vbx' + . ax++bx' +\ B
im P PXEY st him Z2XEVPY ) tim =1 ,51 I
X—>+00 bXY +ax+) X—>—o00 Yx—\ X—>+oo Yx—\
¢l ,a‘..\S
I\ I\ Y Y
— (f — — (¥ —_— 0
f4 ¥4 ¥4 fa
Xle—X
73,15 ciloe Wiz Y =~ &b yloges 1YY
X —1"|x|+T
A (F & (v £ (Y ¥ ()
Y
—x' +
€ sl plaS f’: > dstali olga SIFY
r(x-v)' [x=v]
o<|x—Y|<v (¥ xe (o,v)—{v} o
o<|x—Y|< ¥ (f xe (,F)-{v} «
B
Mb‘so BFE=\/0 3 SH=¢ (M (59 M ahais “Sélb s d ‘C”Jlf F -\v¥
fadly oo phas Ly &5 AH
VOO
M
A VY (Y
\ Y/\(f
d

Y Y . -V W . . -
ahadi 5l ‘B'|_a 5 B‘v Sz95 a3 slals g A"‘ 9 AL Sy A8 Gl 4 sgdm Al S 0 ST

A

S IS 35 g0 5 1y 552 B 0395 45 i 250 3 J3b E3am0 3500 0eil (et 4 5298 M|

VY (F VY (Y AR Y Q

ol s
‘Slaﬁzco).g‘b ela..\b R 930 ﬂ ;‘ ! A(Y’,\) 9 C(A,—\) ‘B(\,—\) WJ)JAJ‘ABC d«.l.’loksl.bwb -\Y#

¢! P‘d..f (1+B+R b <Ll
¥ (F \\ v VO

abadgaranedu.ir



O axio _ olwsl

Sl plaS dlco J518 oloe o 52 X+ —FX—FY = ¥ 010 a5 VY £lais a5 slopls alolzo VYV
XY+yY+Yox+\°y=\‘M ¥ XY+yY+YOX+fy=\/\O QO

X' +y" +EX+YYY = ¥YF (F X' +y XYYy =165 (v

Sl plas’ (g yFablal dus ol&ST (puidls aLdld ¥ as 0 3 ol 90 U 1Y A yo 31 (5598 ABL s BI,5 51 YA
7 (f oy : F( Y QO

0,10 ¥ (5 ,5ablol sue b JFablol acgome 31 (i 15 GBI, 5 Suplas -1

)/(Y

(f

A

(¥

X

0,000 g A 5 B Job 4y oy Lbyed Laiid g 039 % i yo 3 415 SBT3 Syplas —IFe

. @ .

(f

Tl oo (s (i d &1 g3 IS 5 o 4 Cansly 3l ol 44 g7 9 5L oS o255 ISy IV

kegm' kg o kgm" kgm' 0
s’ ? ms’ s' ? s’
kgm' kem' kegm" k

gv 3 gv N\ g?l I gv \J
S S S ms

abadgaranedu.ir



¥ dAxduo

S

G915 dae dg3F S S oo LIS 1) ALBS 3 590 e 1 95095 S g0 590 HSiuled dmiio p 5 S —IYY
Todd o0 L Jwyd a )y 2lad ol o, olowi g (6 S0 31l ol Ho ous
| Y,f0ocorpmEy\Yorpm (O
Y,f0corpmE\Yorpm (¥
Y,fOcorpmEYdorpm (¥
Y,fdoorpm=EyYdorpm (f
Shiuo 5115 95 (sl o3y wisly ;08 pasd B abl £33 Wiy il 100 S 9 pasd S o alold (2 y1eS —ITY

m
(bl oo po cilw 10 F U Jolro £,3 12 9 090 aid )5 15 40 VIV — 92 10 Wiguo & ) Tudd juod Lol
J

Yo (f VO (Y Vo (¥ & ()
Tl Cawy 00 0l )53 slavsly bowd jl olowi ax VY
v+ T -
moogm/axxo’f‘”% (o $/¥X\o ‘"—%:9/vx\o "Lg‘, (!
L cm m mm
km cm w v Gw
W =0/ ¥x10+ T8 (o YF——=Y/¥XYo " (z
min s m.C° dm.C°
v (f Y V(Y o (N

Subly oo gammo 4 35 pIuS o Il o0 ST (g3l B35 (53,0 1) (Soway o JW 1 9 Cowgy b JW 5 —IVD
59350 358 1 50 Az 4o el Camsy 9o S 5l s oy IS Congy b JW 5 ()
ilegos yolid Ol (595 At )0 ol gy b JU 5 4 G (55505 > (611 gy (39 JU 5 (Y
ileon 5ol Ol (5g) aomi 50 ol O (I8 51 208 gy b Uiy J (Y
oo yald O 59y Azt 50 el Ol Iz 51 208 Canngy 9y Sy JE (F
Sy Jl o Shdaol (3o e 595 ’FSE, Pl b p)Ssles B0 oy 4y oo 1) JSb b Gullae VY

b ple pleale 2 00 e 59y 5 odid plil 5,55 &5 2l U e oo pdd' 1) Fy (69,5 i ol

£33 g0 422 53 comn 31 (lusly 42 X 92 Corto cugr b By (59505 Cllo ol 50 w09 yho

Ye QO
F oY (Y
AL YV (Y
F,=AcNe— m | F =YooN TV
Y VEY (F

cm -
GO S o0 by B Al Gy 4 A—— guid b A Ak 1) Foem Jab 4 Sigl 5 JSob @l )YV
S

m -
(g=\o—v)?wlagu’ﬁp@uu&g B aki o Kol
S

VWY (Y Yo ()
YA (F VO (Y
abadgaranedu.ir




Y axao

S 3

sobiie (o S Olp oSKow (G5 oy b 1y 0/ YRE py &1 (Sl ©of Wi g0 (orw (6,51553,9 —ITA
WSS o0 0ylg of 4 (d=Ym) gloals olasel jo g oi Gl it G 1) AN (5 a1 (2955 51800559
(590 JaiS oo 198 Cooglito 1) Tuml 4l 2 yiko iy HISCD5 )9 Cowsd Hf G laar plTB g5 (g0
fo (f Yo (¥ Yo (v Vo (O
P0G (b5l g 00l Loy addgl G gy e ¥ gLl 5T JSCB Billas Yoog o 4 gldlalS 1Y
G5! et Bl =Vl e Job 50 Sl 595 51 ST S (00 03,08 1) o g 03,5 3,95

S

o/ & (\
VY (Y
Y/€ (v
Y/ & (f

becm

,,,,,,,,,,,,,

' m
Cuoglie 31 51 oS (o0 U 5 Vb Byb 4y (o b 51 @318 gliwly o Vo= S LTy YRE ey 4y (S -VFe
S

N
(B=1012) P2asn Yt yio oo 21653 4 U o K 292 ich o 150

VO (¥ Yo (Y O (Y YO
M@MW‘MQU] 6‘9‘“4'3"54.5“"’91 Ja.wg.a 9‘ el JL’> 39 uTGh.w)l LS):"’A Gos yo G»a‘g.é -1F9

v) g )l olgf il p e A Bl ey ¥Rl pl g gl ST
cm

s <of p=)

111
(g:\o—r P Po-;\oA Pa
S

¥/exyot® (s v/Exy o (v v/ AXVo T (v o/axyo™® (y
T Coluno) Souwl (gignl wiayr S5 00 3)l Algd ditus Ll & ogur By 51 45 2195 9549, JSB 50 -IFY

(P, =YocmHg ¢ pge =1Y/0 g‘, 9g=\02‘, 5\°ch aJgl ahaiio

(V111 S

\WARS
AN (Y
FIANAY
bon> YE/Y (f
ar U algd Couly Byb 55 Cowl oud axsyy T ylite oo g b JSb U &gl (99 (JSob @illao —VFY
£29) YL Yem algf e b 50 O b U o 33 31 i st il a1 (S5

m -
(g=1or sedip=o/A—to i p=1—F_)
S cm cm
YO
£ (¥
O (Y
Vo (f

abadgaranedu.ir



L g 4ty y T B £l )l B LT (coled 53 55T .ol oy o b Loh )b plod S Colun 2 sl JSUd 5o —VFF
4 A 35 IS 50 S o0 0yly (A Tk 1 LB, AT 4T (9 e g LOLD ATy 2ol )b 510l

| (il 320 o o5 o 52) Siansl o dum i s 3
E>E>EK ;P >P>P
E>KE>FK ;P=P =P «
E>KE>K P =P =P
E>FE>FK P.>P >P (f

cm cm

Ao—— oy b L Siol plod b ol manlys ST .05di g0 yl8 Vo= uym Sl (Sl G p0 -IFO
Td ol WigSay 3 o yd iy 1) Sl (ol Eld Wyl D9 58 Sl
saals _ e (F Uialzdl - 1O o (Y s Z YO (Y - C VA ARG
ol oud Slml 548 50 &5 (Jgb o0 S OB = plaale Sloges PP
@"LTA? 4 510905 (59 y ol astieo b I Suplas 5o ool 5 S5 Gallae
A el (i g dil> (Sabil o e o 4 Coly 5l oo S
foaslo 1y Jolad sy
B . S A A Q0
B,Ax
A 4B
BB

o2l 551 el ABo ¥ jLTe5, U o)y o) E089 Jomo 31 S A1gili glgel 9 P adsl zlgel (o (yloj SDLST 1PV
S (gud) Toaw! pogdsS wim HB5Ge3 4 1 o) o) E989 Jomo dlold (ilS LS e !y S 59y Zlgl
km

(Canl F—— g A— iy 4 S g P slazge
S S

Yf¥fo (f fAo (¥ YE (¥ A
IRV F R gue) PRS0 PRI WIR-PVE SNV IWERPUSL Jpin R 1) PP POWE 351 alold g plp 90 1) Jawe Aol duls -YFA

\ )
V# (f — (¥ A4 < O
\# \s

iy g Cmre Al ST 50 e Bl Bo 0 YO iy 0 595 Zlgel A5 1) S Aol vwlun 51 -1FA
(log¥Y=0/Y) Sl o0 S b wd Sz g0

Yo (f Yo (Y Y (Y V(O
W35 plas Wbl Glal38l Jlo 50 diwgs (onighd) (55U 5 HLaS 3T (pdy Crmile S (o ALold o5 o -0
fably oo Tuowo o)lgon
b oo ualS aiga dwelus (Y by oo il 38 diwga dolus (A
b oo (ol dwgy oo Jobo (F ahee Gl g Zoe Jobo (¥

abadgaranedu.ir



fabloo Cawyd 5 Ohhle 10,90 Wi —1O)
el 5185 (Fgo glool Gl LS Higo ST (A
0,18 (Siws 59 Tgo Job 4 (o pp LSl oo pb (@
dgly 3 PSS ConSh Lgl) D9 Yl G b (hutme 4 S GuS b (Shuzmo l zge &5 (g 5o (g
Dgh 0 Wb
WABS 03 Fy (S0 Zlanl (gl sl (8
el Yo/0ooHZ G Yo HZ & ;0 obdawlus a ludl 5095 Comwlus o yidn (-2

T (F Y (¥ Y (Y Y (O
T LA 9 9 90 Job e 9 buse Conslh b 9 (SR lod il b Ol Sugay 5o -1OY
oS o0 i’ digSy
owals o malS o moliel o aolssl (Y ol o mels o ol8l L als ()
ol o Jrels o els o galisl (F el o a8l rels o rals (Y

P0Gt Coomw H 8 SO ST ailondds o p A Wglitie s adadio daw b QLD g0 (5 U L Galle —VOY
fad o0 LS (Fow S &y dliod (p] 51 gy 1) QLD 90 (al Comidg 4y 35 plas oo o sy 90§ po 4

v

'

Gl o1 (295 5 o 9 35d 0 192 3,15 O 51 Cid g0 S -VOF
LS SF R GO ).gbg ~ |9.b 30 Too )Lw...ﬂ G ! BY5) J.iw Lt
Sl T 30 Zge Ll

41 V()

<]t —«|—

YI
(f — (Y
f

abadgaranedu.ir



Vo Ao . S s

Ol (huwyd a3 1y Jazo 99 350 31 Houe LD b joi e JKib oIS 39 20 T 5,19 198 51 (guuiw ;98 —100

Tas o0

CH, CH,

¢cowl plaS CH, — CH,— CH— CH—CH—CH, :Js0,$ b 55 Slgl ol 105

CH, —CH,
u‘;.@d...?.oksb_ag\ﬂ_d.u‘_f(v u‘ﬁ&&ﬁdb-fﬁY-J&‘-Y(\
e Ll Z Y~ ze g0~ $ 5 ¥ (F UL ICONE ATCTIE T WCORNE ¢
095050 o 3 S 35 pIaS b WSTg 0 @alo oy 30,8 STy VOV
ol e g0 - Y .Y (F O Y (Y Obg Jee - ¥V (Y olixe gl ()

Tl S )0 (9 850,50 Wyle plus” —10A
ol d.ilfso AJs.u u_ig_ JALM: g9 OO U’)S9)"\""° Y
el GSIT o ool 31 5 iy ool (339,002 (sloest Loty (F
Sgs oo oolawl (538 Slakad yols hgx (slp o (s gu 51 (F
3,10 S Caylyd s i Buizle glial 5l Suplas —104
gy Sl (¥ 085 i (¥ Jedgsl5 (¥ o= ()
Toilcaw ;0 « ) e e 3l olows 4 V5
WSS o0 VU (o] g Lol B 43,5 T 31w |y pls s @
b tbabalie @ygo 4 1y oF ety Torad 3o a4 55 alall 31 oolid by cpls i ¥l wiylyd 55 @
WSS oo o b A SO e dads
Al oo ol Lo M dy (pmly 5l bl g j0 @
A i 500 s9w 3l g wBd o0 518 alio HLas! jo 1) cawln g )l CSgw e (T pls s oYL @
SOg o0 Cunsd ol (Ko SN (55 Al g

¥ (f Y (Y . YO Y ()
( abadgaranedu.ir



?05.&‘;0 Q)ST)." Jhw Lz v Soow J&; ﬁlé& £ J,Ja -7

Je Yoo B Yoo -u (Y Jlw Yoo i 55 ()

Jle Yooo 5l an (F Jl doo (¥
O [RPUX SR S [P Jolds adw i —15Y

VO _ Vo o LlacSIT(Y VO _ Vo _ LlanSIT ()

Yo _ V0 _ ol SIT(f Yo _ V0 o ol SIT(Y

Tl Caw ol i le plas” —VFY
gl Lo yosd caely Wilgs o i) )8 ploult ()
s 00l diges G (sl S 3l e, (Y
AR (0 UL““" ‘) 9.5& U—| 37 LSL")? wolo F’Jf S @u; C,.cﬁ).'a X
Ol S esle oy s aS el | S cosle dges SO oo )5 650! (F
DI Sy 00l 52 goi S sle S S55
Sl g0 G381 $0°C a3 Y8 C 31y Jojolef Wiz coider 1 1 alls muiopogl ankad Ky 1 0,5 Yo (slad —1FF
(cp=o/atg.°C™)

o/oq (f V/ oA (¥ V/Yo (Y Y/ f0 O
Tl S 3 cdigu plas GJL».J 70
O0=0 ¢ H-CI v Br—Br H-F ¢

! ‘eL&S ‘Lbog.}‘.f 30‘95‘5 s u.Jg‘ LS’Q'” P> L! &_i‘a'.ﬂog)i uLuSJJ 3.:‘5.5‘.‘5 05;).»: ‘519.0 oy ugLﬂJ —\#y
O= \?,C=W,H=\:g.mol_‘

Y7 (f Yo (¥ VP (Y A
Sl ol 40 39290 Gﬁ oSy HLsle jo Lole 05,5 plus 8559 4y dllunlg sves yob a4 AL 51, 699 9 pxb —VFY
sl (F JenS 2,5 (V Jg s (¥ oS g 00 (3

s 4 X pais 0il gy B0 on JuSid X paie ) o0y du0ys FOIVY X Oy Jg0,8 a5 (oS 5 0 —1PA
(0 =18g.mol ™ Yol plus
INANQE do (¥ Yo (v Yo ()
fudlcaw )0 oy sl le 3l sluxi 4z - 174
ol G0y Aaler Aiawgy 30 pais (33 3lal 8 ey 5T (T
el (g0 dolor Astagy )0 ST (3§ (519158 <l (&
R RV VR SR U PIP-S) -2 FWIPSWOT Puvy (un
el s (AL Gadigad o 51 55,lg8 (0
¥ (f Yy Y (Y Y ()
50 A cdlcawyd py cdlae dosd -1V
W ()5 (s Sl S8 )58 dhex Sl uledl g 28,5 ()
2,18 W ;K0 ()8 il A b o0)S o5l e oSBT ek Sl e o (F
WEE,T )5 o S gund s iz b gl uledl sl 0 5 g0tmd 90 Ltz b il acendl § il o (F
ool (udVI5S Slasala 552 eledl 5 (Jsge Slodalr 552 <odl S (F

abadgaranedu.ir



WY axiuo _ PR

Foaw!l CawyoU 81,5 8,500 wjlee plas” —IVY
ol 02,5 031 S5 85t s T cwlses ()
Slesls J..Sw.., o0gS e (sbvadl> « STyil s b 0,8 slapsl o1 50 (¥
ol pdutlasil g Blads g bsbe gl (Y
Sl 3Y 98 0iiler ] iiS Cooglie g 50w (5905 aile o oSUH (F
Tl ool 25 Ladigs 3 ol ax (gl (Jg50 8319 o2 )15 4 —IVY
Pb(s) - CHyCOOH(I) - C,H,, (1) - 81,5 - SnCly(s)

o (f F (v Y (Y Y QO
A WSS (o0 S e (S (o 50 5 Slge das WYY
dmST g3 3,555 (F £ A9, (¥ o Skl (Y ot O
Sl i i 00lo plaS hgo daiii —1VF
N, (f NaCl (v H,O (v HF ¢

fadlcaw)d « 5 dlao plus” -1V
e oo (5L 1y T 8053l (W yguiT 9 Ly guils Commd (ool (g Sy 12 (o1 lionds Jg0,8 (1
95 (o0 (gl d ) 9ieS dus (Holy ATl )0 (ya1 p2 (a0l 9290 Lo SlB e T Lol 4 (&
o]yl (g1 Al ol Al i 598 Lo ygr (lee il (59545 4z 2 (@
M 4 (S b Sl 5o 50 g g b JgSIge dansT phive 5 (gim aw ialyT ool (6l (659 4Sud olg (&

+99)s®
&g (F &g (F &gl (Y ol ()
§ sl 7 et S 7 oIS A5 (bl g 58 (LT —1VF
S2,59908 ety (¥ 90,5 et (¥ Seo ey (V S99k e ()
St p1S" (T Sy jaw (Sod Jolxo 38 (3 dlily iy LSt dus —\VY
+0 (f +f (v +Y (v +Y ()
Tl ouuis plonil  iw ;0 a4 cond 0018 CuS 35 90 (ylio dwy Lo plas” —YYA
el 5 < bl s (Y Si—8Si < C=C ey I Sk O
s < a)S s 1 S5 (F il < oY iogd Al (V
Sl puais 90 pIaS 31 G5LIT el Bg yro Wigd SWIT 4y a5 Jgis —1VA
w2Vl 5 S (F w25Vl g pg)S (¥ sl 9 S5 (F el g pg)S ()
sl oIS erduw (392 b Sl (92 31 ol Kad (lond Jgo 8 VA
Na,SiOy (f Na,SiO¢ (v Na,SiOy (v NaSiO¢
(@sanjesheducationgroup i b0 3T sl cya03T ot 5L JULS
abadgaranedu.ir



